
SAP ABAP table OIRECH {SSR PC: Clearing House table (IS-Oil SSR)}

OIRECH

MANDT [CLNT (3)]

CHOBJ [CHAR (6)]

KTOPL [CHAR (4)]

BUKRS [CHAR (4)]

HKONT_V [CHAR (10)]

HKONT_N [CHAR (10)]

ADRNR [CHAR (10)]

CHSMS [CHAR (10)]

CYCBADI [CHAR (20)]

INVMETH [CHAR (3)]

FNSET [CHAR (30)]

RFCSET [CHAR (32)]

AUGLV [CHAR (8)]

CONVGR [CHAR (4)]

LOGSYS [CHAR (10)]

HKONT_W [CHAR (10)]

BLART [CHAR (2)]

KONWA_TR [CUKY (5)]

KURST_TR [CHAR (4)]

KONWA_FI  [CUKY (5)]

KURST_FI  [CHAR (4)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 OIRECH-ADRNR = ADRC-ADDRNUMBER 

0..N

1

OIRHCHSMSC

MSGSTRUC [CHAR (10)]

 OIRECH-CHSMS = OIRHCHSMSC-MSGSTRUC 

0..N

0..N

OIRHCVGRDEFC

MANDT [CLNT (3)]

CONVGR [CHAR (4)]

 OIRECH-CONVGR = OIRHCVGRDEFC-CONVGR 

0..N

0..N

OIRIMTYP

MANDT [CLNT (3)]

INVMETH [CHAR (3)]

 OIRECH-INVMETH = OIRIMTYP-INVMETH 

0..N

1

OIRI_DIST_VAL

DIST_ROUTINE [CHAR (20)]

 OIRECH-CYCBADI = OIRI_DIST_VAL-DIST_ROUTINE 

0..N

1 RFCDES

RFCDEST [CHAR (32)]

 OIRECH-RFCSET = RFCDES-RFCDEST 

1..N

1
SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 OIRECH-HKONT_N = SKA1-SAKNR 

0..N

1

 OIRECH-HKONT_V = SKA1-SAKNR 0..N

1
 OIRECH-HKONT_W = SKA1-SAKNR 

0..N

1

T000

MANDT [CLNT (3)] OIRECH-MANDT = T000-MANDT 1..N

1
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 OIRECH-BUKRS = T001-BUKRS 

1..N
1

T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 OIRECH-BLART = T003-BLART 

0..N

0..N

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 OIRECH-KTOPL = T004-KTOPL 

1..N

1

T041A

MANDT [CLNT (3)]

AUGLV [CHAR (8)]

 OIRECH-AUGLV = T041A-AUGLV 

0..N

1

TBDLS

LOGSYS [CHAR (10)]

 OIRECH-LOGSYS = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 OIRECH-KONWA_FI = TCURC-WAERS 

1..N

1

 OIRECH-KONWA_TR = TCURC-WAERS 
0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 OIRECH-KURST_FI = TCURV-KURST 

1..N

1

 OIRECH-KURST_TR = TCURV-KURST 

0..N

0..N

TFDIR

FUNCNAME [CHAR (30)]

 OIRECH-FNSET = TFDIR-FUNCNAME 

0..N

1


